— &5 F

\
g0 BERZ M/BASE
IIT Eak
7 K4 FriE R 3 {3z 8 K4 FriE R 3 [[:Rivd
=+ = == !
1 E R I-L‘.\ B_BXRIZ7 2/9 : 99 NP & IB T_OTO 2/9 1
N B M/BASE = B OE Ot TKE
) B ¥ Do fkmtlﬂﬁsf . , @ )3 i E_t 75 1& oo 0/2 .
3R 1 = i Glmp=2k s g} x M K oo
] il Es EEISD H Bl R & REHFIST
3 \ 1/2 2 24 1/2 2
i A /N = RIS H & % X T=40
2 K4 FriE R 3 [[:ivd 9 K4 FriE R 3 [[:Rivd
—_— =1 g 5 7N N
. £ H hlﬁﬁiwﬁ 279 1 @ - A 1B @ HoT—057 2/ 1
2] 1% B2 R X TR M/BASE
/NI N 2 West ward JR £ & 5EYS5D
5 0/2 3 26 1/2 2
X R 2 B ABXYZT 2 K £ ikl
6 X 1/2 2 27 ‘ _ . 0/2 3
T & =E =957 ] 1 fEMo57
3 K4 FriE R 3 [[=Rivd 1 70 K4 FriE R 3 [[:Rivd
B E ER TOTO H B 53 BRI IRFT
7 1/2 3 28 X 2/2 1
Bl =1 ik B y 7\ ] X BINRO ST
g Fl Iy co L | = West ward
1
8 B K =} co & 2 2 5 = F0 West ward 0/2 3
b 1% N =0 H I Bk M/BASE
9 1/2 1 30 1/2 2
W P B =40 / t M “ M/BASE /
4 K4 FriE R 3 [[:Rivd 117 K4 FriE R 3 [[:Riv
b & B KX ik B 5 B 2 X oo
10 2/2 1 31 0/2 3
w A =B M ik & N & 18 K BB oo
=F H = T=40O 3 H & fin £ BB TE Al 22
11 1/2 2 32 2/2 1
E B =" OB T=40 A H % TE Al 2B
* £ R & HoT—957 g P i B2
12 \ . 0/2 3 33 N 1/2 2
X £ s5h 3 HoT—957 & H Y B2
1
5 K4 FriE R 3 [[:ivd 12 K4 FriE R 3 [[:Rivd
I/ =<1 K4 z= 3 = _I
i3 /NI N D M/BASE 2/ ) 24 B = F > TE 2/9 1
=8 i [ M/BASE i K = ik &
v AKX E = B2 B % 1t fERIHRFT
14 N 0/2 3 35 = - 0/2 3
# ik Bz B2 it F 5%k #c BRI THRFT
F B E A NSk X H — EEIST
15 X 1/2 1 36 1/2 2
A J 3 BINKOSD iz y3l Unite
0
6 K4 FriE R 3 =R 13 K4 FriE R 3 [[=Riv
E 2 — REFISD i T 8 Oz B A& %)\ 1%
16 0/2 3 37 1/2 1
¥ h M/BASE = {8 g = B A& g%/ \ 1%
OB X o E i E 1Z o
17 1/2 2 38 1/2 3
= & i oo H % X oo
8 i [l E @Iﬂfﬁmjﬁ 279 1 29 2] B % T=/70 /9 )
H =x T BRI Fr W x & IE west ward
7 K4 g s [=tiva @ 14 K4 g B Bz
b N £ E EEISD w X F 2 M/BASE
19 X 2/2 1 40 2/2 1
& H D eEI77 W T F & M/BASE
M B F iE REE 5K o X ¥ B2
20 0/2 3 41 N 0/2 3
X & & W A== 5N 7T K E #4 B2
= g R % | oo s =
)1 #t 2 = H B ARS8\ 1E o ) 4 & Vil S %mk’]_v? 1/2 )
Rk A # X B ARS8/ \1E H %% H t SEEHSD




